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QUESTION 1

A requirement indicates that OSM should send a message to an upstream system when a manual task in your
provisioning process reaches the Received state. How would you model this functionality in your cartridge? 

A. with Data Change Notifications implemented at the Order level 

B. with Data Change Notifications implemented at the Task level 

C. with Milestone Event Notifications implemented at the Order level 

D. with Task-State Event Notifications implemented at the Task level 

E. with Jeopardy Notifications implemented at the Order level 

F. with Jeopardy Notifications implemented at the Task level 

Correct Answer: E 

 

QUESTION 2

Which statement is true about the System Events feature in the OSM Administrator application? 

A. It is a placeholder to display and manage notifications about Oracle WebLogic Server performance at regular
intervals. 

B. It is a placeholder to display and manage notifications about OSM Database performance at regular intervals. 

C. It is a placeholder to display the list of orders in which exceptions are noted during processing of rules. 

D. It is a placeholder to display and manage notifications about OSM Server performance at regular intervals. 

E. It is a placeholder to display the list of cartridges that failed during deployment to the OSM Server. 

Correct Answer: C 

Reference https://docs.oracle.com/cd/E41514_01/doc.724/e41522/adt_system_events.htm#OSMWM132 

 

QUESTION 3

Which three statements are true about the functionality of composition rules in an Order Item Fulfillment State
Composition Rule Set? 

A. You can aggregate to a composite state when multiple conditions are met. 

B. You can aggregate to a composite state when one of multiple conditions is not met. 

C. You can aggregate to a composite state when at least one child order item does not have a defined fulfillment state. 

D. You can aggregate to a composite state when at least one child order item has a defined fulfillment state. 
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E. You can aggregate to a composite state when the order components of all order items have a defined fulfillment
state. 

Correct Answer: ACE 

 

QUESTION 4

Which three statements are true about the Rapid Offer Design and Order Delivery (RODOD) solution? 

A. OSM in the Central Order Management role is responsible for customer order mapping, decomposition, and
orchestration. 

B. OSM manages the order fulfillment life cycle by providing complete lifecycle visibility and regular status updates to
the CRM system. 

C. New commercial offerings can eventually be introduced with zero configuration in OSM. 

D. Central Order Management is the multi-channel order capture and consumer support system. 

E. Central Order Management interfaces with the Element Management and Network Management systems. 

Correct Answer: ACD 

 

QUESTION 5

This diagram represents the orchestration plan of an order that you submitted on January 1. The following are
configured in your cartridge: 

-

 Each order component has a minimum processing duration of two days. 

-

 The product specification of Order Item 3 has a minimum processing duration of four days. 

-

 In the product specification of Order Item 3, Order Component B has a duration of four days. 

Considering that the requested delivery date is set to January 10 for all order items, when will the order start its
execution? 

Latest 1Z0-493 Dumps | 1Z0-493 VCE Dumps | 1Z0-493 Braindumps                                3 / 4

https://www.pass2lead.com/1z0-493.html
https://www.pass2lead.com/1z0-493.html
https://www.pass2lead.com/1z0-493.html


https://www.pass2lead.com/1z0-493.html
2024 Latest pass2lead 1Z0-493 PDF and VCE dumps Download

A. January 1 

B. January 2 

C. January 4 

D. January 6 

E. January 8 

F. January 10 

Correct Answer: A 
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